Naam: ………………………
Huistaak bij les 19:
Los op:
3/5 l = ……….. dl			0,03 l = ………… dl				1/10 l = ……… cl

250 ml = ……… dl			1,5 dl = ……… ml				1,10 dl = ……… l

3 l – 20 cl = …….. dl				2,2 dl – 1 cl = ……… ml

2,5 dl + 30 cl = ……… l 				18 l + 1,2 cl = ……… dl

½ kg + 300 g = ……… kg			   	250 g + ¼ kg = ……… g

[bookmark: _GoBack]
Naam : ………………………...
Huistaak bij les 19:
Los op:
3/5 l = ……….. dl			0,03 l = ………… dl				1/10 l = ……… cl

250 ml = ……… dl			1,5 dl = ……… ml				1,10 dl = ……… l

3 l – 20 cl = …….. dl				2,2 dl – 1 cl = ……… ml

2,5 dl + 30 cl = ……… l 				18 l + 1,2 cl = ……… dl

½ kg + 300 g = ……… kg			   	250 g + ¼ kg = ……… g

